CCS5 2.0A.2 Fluently add and subtract
Name within 20.....

Addition Finding Sums of Ten

Directions: Solve by finding the sums of 10.

4+3+6= 7+3+6= 5+ 8 + b=
2+6+8-= 1+9+6= 5+ 3+ 5=
3+7+2 = O9+1+4-= 6 +1+4-=
4+3+6= 7+3+2= 8+7+2-=
Nate saw 7 black bears, 6 brown Kate saw 8 brown bears, 1 polar
bears, and 3 polar bears at the zoo. |bear, and 2 black bears at the zoo.
How many bears did Nate see at the |How many bears did Kate see at the
Zzoo? Zzoo?
+ + = + + =
bears bears

Which child saw the most bears?
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